
Math 002-01 Quiz 3 (B)
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Q.2: Evaluate W
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Sol: x = cos
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= cos (5�) = cos (�) = �1

y = sin
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�
= sin (5�) = sin (�) = 0:

Q.3: Sketch the graph of y =
��2 cos �x2 ��� : Show all steps.

Sol: Period P =
�
1

2

= 2�; Amplitude A = 2:
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Q.4: Find the trigonometric function whose graph over one period is:
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Sol: Period P = 6 =
2�

b
) b =

�
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Amplitude A = 2 ) a = 2;

f(x) = 2 cos
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3
x
�
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Q.5: Sketch the graph of y =
1

2
cot
�x
3

�
over one period interval.

Sol: Period P =
�
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Q.6: Write period, amplitude, phase-shift and sketch the graph of y = 2 � 3 sin
�
2x� �

2

�
over one full

period of the function.

Sol: Period P =
2�

2
= �; Amplitude A = 3; Phase Shift F = �

��
2
2
=
�

4
; Vertical Translation V = 2:
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